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General Instructions : 00
(17 First 15 minutes are allotk&wc candidates to read the question paper.
(11)  All questions are ¢o Yy
(111) Hlustrate ynur@a with Jabelled diagrams wherever necessary.
(iv) Marks allo each question arc mentioned dgainst if. 3%
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( Muitiple Cheice Ty pe Questions)

Choeose the correct aption and wiile (i yvour answer hook |
ral Which one s faund 0 pollen gran ! ' !
i Two male gametes
BY O Twa segetative cells and ope generatrve celi
(U Ome generathve vell and one wibe cell
(N One tuhe cell and one mate gamete
My Number of poten sacs s anaiither s !
S O

! BY Two 0‘
(0 (One 6@

il Hew many meiotic divisions are @red to get 200 grans of Barley ? 1
v ¥

A

(dy Congenital metabolic disorder is
(A) Phenylketonuria

(B) Colour blindness

(C) Haemophilia
(D) Anaemia
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@ i 1 fever. i
z =) Senlien e Nune o foausal klx"d"gr'l.:} T\"Ji"uu oV

bt wnaliype afnucleus 1< found 11 bacteria) vell o 1

ey Draw o labelled diagram of o succulenm Fruit.

| Q@‘
(g Describe wn briel apout advantages of crovy-potlinat 1

fep What i bio-diversity notspot 7

3 (&) T 3 T A T B 2
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3. (a) Pollen grains get their nourishment from which part of anther 7 2
(b) Comment upon amniocentesis.
2

(¢} Differentiate between true fruil and false fruit,
(d) Define Apemixis,
P E (e)  What do you mean by Polyembryony 2
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i (Short Apgwer Type Ouestions} R
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rg) afrEm fagrys e dlere foomf fafige ?

4 (ay  Draw g labelied Jiagram of a hyman sperm °® 3

(b)  Draw @ Jaheifen diggram oA iransverse sechon of a mature ﬂ@f 3

¢ 3

(o) Wha do you e B bee-reeping Cxplain it in IiQ@
' “amil 3
(dy  Wiite short note o Family Planning. \0
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s {a) Giveunaccounton DNA fingerprinting. 3

(b)  Who 18 father of Green Revolution in India 7 Green Revolution is useful for

farmers. Explain it with example. 5

(¢) What do you mean by restriction enzymes 7 Explain with example. 3

(d) Hydrophytic plants are adapted to their environment. Explain 1t with the help of S

examples and diagrams. _ R
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Name the important components of hino ity and mention suitable measures

for tts conservation. |°

Write short note on ¢ e 11

(1) Genetical discrd@&an
(1) Central d[&
3

What js 'srtilizer ? Peseribe its role in the production of food. 142

Write short note on any two 1% 4 17
(i) Reddaia book
(i) Parasitism

(ii) Role of leguminous plants in increasing the fertility of soil
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What Megasporogenesis 7 Deserthe the development of zypole 6&

mature ovule woan Angiosperic flower.

on é@

Draw a fabelled diagram of reproductive symh,rn\g ’
& Teredi @ Afena froh Rt 2% + 2%
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Write short note op any (wo

(1) Double terihzation
(nd o Sewdee treatmerit

(ny Control of Poesmonia

OR
. : . : o 4 2%
Differentiate between ihe following fruits e
(11 Legume and Lomentum
(i) Drupe and Schizocarpic frun
Higrea feooh fofign 0’ 2%+ 2%
() AT A
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Write short note on e&
(1) Fertilizatio Qan

(1) Acti ssive Immunity
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Write an essay on Genelic code, 5




